
Water flow
CO2 flow
Electricity
Waste water connection (optional)
UK only

* For HygienePlus systems only

VIVREAU_Extra-50/85_CS_V1.2_2020-07

9

4

1

7

2

8a

4

5+12

13

14

15

18+12

16

16

10

VIVREAU EXTRA 50/85 & VIVREAU EXTRA 50/85 HYGIENEPLUS - CONNECTION SCHEME

27

28

8b

2
4

10

Page 1
1 Flatgasket 24x15x2mm 3/4 2 x
2 Aquastop G3/4 FT - G3/4 MT 1 x
3 Female adapter DMT 5/16 T - G3/4 FT 2 x
4 Locking clip DMT 5/16 8 x
5 Tube LLDPE JG 5/16 3 m
6 Male connector DMT 5/16 T - G 3/8 MT 1 x
7 Reducer Kit 3/4 MT - 3/8 FT Pack 2 0,5 
8a Water pressure regulator 1 x
8b Water pressure regulator (UK only) 1 x
9 Mounting plate water pressure regulator 1 x
10 Screw 5 x 16mm 4 x
11 Shut-off valve DMT 5/16 T 1 x
12 Insulation hose 3 m
13 CO2 bottle strap 28“ 1 x
14 CO2 bottle spanner 1 x
15 CO2 pressure reducer 1 x
16 Locking clip DMT 1/4 7 x
17 Tube LLDPE JG 1/4 3 m
18 Tube elbow union DMT 1/4 S - 1/4 T 2 x
19 Ventilation grills 1 x
20 * Pack 1 Hygiene filter X3 CU * 1 x
21 Tube elbow union DMT 5/16 S - 5/16 T 3 x
22 Connector 1/4 T - 1/4 T DMT 1 x
23 Waste water tube 18x12x 3 mm 2 m 1 x
24 a) Pack 1 CLARITY Taste 100 CU 1 x

* b) Pack 1 CLARITY Protect 100 CU * 1 x
25 CLARITY filterhead incl. mounting bracket 1 x
26 Screw 4 x 16mm 2 x
27 Standpipe w/ washer 3/4“ BSPF (UK only) 1 x
28 Standpipe DZR brass 3/4 (UK only) 1 x

No. Article description Qty.

5

3

3

6

1

23

11

IN
H2O

IN
CO2

OUT
Still + 

Sparkling

26

25

24

21
4

16

18

16

18

22

16

19

*20

17



VIVREAU_Extra-50/85_CS_V1.2_2020-07

SAP code Page 2 Quantity
1 1028690 Flatgasket 24x15x2mm 3/4 2 x
2 1014105 Aquastop G3/4 FT - G3/4 MT 1 x
3 1034028 Female adapter DMT 5/16 T - G3/4 FT 2 x
4 1032456 Locking clip DMT 5/16 8 x
5 1038400 Tube LLDPE JG 5/16 3 m
6 1032449 Male connector DMT 5/16 T - G 3/8 MT 1 x
7 1000898 Reducer Kit 3/4 MT - 3/8 FT Pack 2 0,5 

(Pack 2)
8a 1032462 Water pressure regulator G 3/4 FT - 5/16 T 1 x
8b 1019490 Water pressure regulator pipe 15mm – G3/4 

MT (UK only)
1 x

9 1035839 Mounting plate water pressure regulator 1 x
10 1032465 Screw 5 x 16mm 4 x
11 1032451 Shut-off valve DMT 5/16 T 1 x
12 1038401 Insulation hose 3 m
13 1019492 CO2 bottle strap 28“ 1 x
14 1018791 CO2 bottle spanner 1 x
15 1032466 CO2 pressure reducer 1 x
16 1032457 Locking clip DMT 1/4 7 x
17 1032711 Tube LLDPE JG 1/4 3 m
18 1032710 Tube elbow union DMT  1/4 S - 1/4 T 2 x
19 1036466 Ventilation grills 1 x
20 1036478 * Pack 1 Hygiene filter X3 CU 1 x
21 1032751 Tube elbow union DMT 5/16 S - 5/16 T 3 x
22 1036101 Connector 1/4 T - 1/4 T DMT 1 x
23 1034777 Waste water tube 18x12x 3 mm 2 m 1 x
24 1020569 a) Pack 1 CLARITY Taste 100 CU 1 x

1020581 * b) Pack 1 CLARITY Protect 100 CU 1 x
25 1024792 CLARITY filterhead incl. mounting bracket 1 x
26 1032465 Screw 4 x 16mm 2 x
27 1019482 Standpipe w/ washer 3/4“ BSPF (UK only) 1 x
28 1019483 Standpipe DZR brass 3/4 (UK only) 1 x

VIVREAU EXTRA 50/85 & VIVREAU EXTRA 50/85 HYGIENEPLUS - BOM
No. BRITA SAP Code Article description Quantity

* For HygienePlus systems only


